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Answers

1. 4,347

2. 3,498

3. 2,226

4. 3,816

5. 4,650

6. 6,512

Use the array provided to solve each problem.

1) 63×69 =

60

60

3

(60 × 60)
3,600

(3 × 60)
180

(3 × 9)
27

9

(60 × 9)
540

2) 66×53 =

60

50

6

(60 × 50)
3,000

(6 × 50)
300

(6 × 3)
18

3

(60 × 3)
180

3) 42×53 =

40

50

2

(40 × 50)
2,000

(2 × 50)
100

(2 × 3)
6

3

(40 × 3)
120

4) 53×72 =

50

70

3

(50 × 70)
3,500

(3 × 70)
210

(3 × 2)
6

2

(50 × 2)
100

5) 62×75 =

60

70

2

(60 × 70)
4,200

(2 × 70)
140

(2 × 5)
10

5

(60 × 5)
300

6) 74×88 =

70

80

4

(70 × 80)
5,600

(4 × 80)
320

(4 × 8)
32

8

(70 × 8)
560
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